September - 2010, Subject: Maths, Class - IX

{Semester-1)
Time: 3 Hrs.

Note: (Question No.l carries 10 marks.

P
ol ii)  Express the number 0.29 in the form of H .

(i} Insert one rational number between 7 and 8,
(i) Factorise the expression: 12a+ 4b
n

{

(iv)

M.Marks: 70

In the above figure il' ¢ |jm and n is transversal line then the pair of angles £1, £2 are .......... angles.
&

(v)

In the above figure £X = ...

(vi)

] 6o an
Tem em

Which rule of congurency is applied in the above figure?
(vii)

i I
X L¥ Y

In the above figure find £x= ......7

viii) Trignometric ratios of cos 8= —————
(vin) Trig Hypotenuse

{ix) Find the value of tan 45°.

—pw |1+
xy A=I [ + " I]ﬂ)
Note: (). No. 2 to 13 all questions carry 3 marks.

.2 Express in the form DF%
0.6

0.3 State with reason whether 2 » 18 is a surd ar not?
04 Factorise: 16x7 -25y?
Q.5 Factorise: x*-Tx +12

OR

Determine the remainder when the Polynomial p(x) = x*-3x™+2x+1 is divided by x-1



.6

0.7

Q.8

0.9

Q.10

What value of x would make AOC a line in the figure, if
LAOB = 3x+10" and £BOC=2x

In figure AB= 3cm., AC=3cm and £A=50" then £B=..........

Evaluate: tand 5" + cos6l® + sin30®

OR

25
IT sect= T then find the values of sinf cotd

Find the amount and compound interest on Rs. 12000 for 3 years at the rate of 10% per annum,
when the interest is compounded annually.

Following are some of the entries on a page of Vivek's Saving Bank Account Pass Book:

Date “Particulars Amount Amount Balance
withdrawn Deposited
Rs. P Rs. P. R, P
[.1.2005 Bycash | ... 3500, 00 3500, 00
B 12005 | To self BOO. 00 | 2700, 00
21.1.2005 | To cheque No 80| 900. 00 | ... 1800, 00
4.3, 2005 Byvcash | e 3200, 00 s000. 00

If Vivek closes his bank account on Ist July 2003, find the interest earned at the rate of 6% per annum.

OR

Harmeet Singh makes a fixed deposit of Rs. 50,000 in a bank for two years. If the rate of interest is

104 per annum compounded annually find the maturity value.

Q.11

0.12

Q.13

In the given figure AB|| EF. If #/BAC= 48",
LCEF=112" and £ ACE=x", find the value of x.

In the given figure XM =¥ Z and YM= X7 prove that ¥
SXMY = £YZX and £MXY = £Z2YX

] 4

Hardeep opens saving bank account with a bank on 3-5-94 with a deposit of Rs. 600. He deposited
Rs.50 on 7-3-94 and then he neither deposited nor withdraw any amount in May 1994, What is
the amount on which he would receive the interest for the month of May 1994,

Note: ). NO. 14 to 17 all questions carry 6 marks,

Q.14
Q.15

Q.16

Q.17

In the AABC, right angled at B. Determine the remaining angles and sides, if £C=45", AB=5cm.

A machinery depreciates each year by 3% of its value at the beginning of each year. If the
present value is Rs. 188180 find its value two years before.

T+35

Simpli ationalising the denominator. ==
implify by rationalising the denominator. 7"—311";

i

Using factor theorem, factorise: 6x'-x*-12x-5

Prove that sum of interior angles of a quadrilateral is 360°.
OR

Prove that sum of three angles of a triangle is 180°.
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